T 10 e & vt ool S-RAEH & I W A SNOHLAIR. ST W @ i O oeRd & 1 AR ORISR T 9 Se-gRas
%Wﬁﬁ%maﬁggﬁmssingWmsprintﬁﬁﬁﬂmaﬁaﬁmm-mwal

Sub. Code No. — 1212 Level — 2
[ TGT — For Classes : Vi to VIl ] Exam_, 2023

SET —_ A SOCIAL STUDIES YeT-gRahl i T LI FHD
Question-Booklet Serial No. & O. M. R. Serial No.

39 U-gRaw & gt @ de uw @ dem T

No. of Pages in this Question Booklet — 48 | No. of Questions — 150 Time — 2.30 hours

ST (BT ) / ROI NO. (IN FIGUFES) ..o
ST (FTRT H) / RO NO. (IN WOIES) ... eeeeeeeessssssaae e eeeeeeeesssss s e
QST B BT AT/ NAME Of EXAMINGHON CONIE ....o...oveovevoeeessesssssssssessss e sssesssssssssssss s sssses s st ss s ss s s e s s
AT BT TATT/ NAME OF CANGIAALE ....ove e eeee e ee e ee e e e e e e e e ee oo ee s e e es e ee e see e e seseee e eee e seneeseree

et & TE®R / Signature of Candidate 1l @ SR / Signature of Invigilator

et 10 BFe F 9 g9 W B4 el B w7 qu SR T § e REwer A & e R smem aR ge-gRawm @ oW =
N FH HO T Sfhd & A1 By IS missing qM misprint B A T PR UGS § AT H IT-IRAHN T/ A1 IHb GBS @
HHR T B sem 37 10 B @ iR, ge 3 SW oikd F B R R 2.30 R @ oo Rar som IR Bl el @
ge-gRaem & Ru T Rl o o § A8 R @R W wie & A g R ol o sy @ Su dfvaeT % @ R s R
ST o T FreiRa SR $ ARM 39 @ 7 U SRiaeT 98 FEed 7 6 S 99 8 36 AR 3 96, 39§ § A
fEet W A Rer 7@t Ren smem

IR Bl go7 § B 7 oA aregm 7 Ry & at o aregm #w g9 3T TAT AW

If there is any variance between Hindi and English Version of any question then English Version would be considered correct.

ﬂﬂﬁﬁ % e ﬁiﬂl/ Instructions for the Candidates :—

1. SR, IR OF 30 IT-JRH & X T@ 8l 9 ST Ie-GRaH T H Fel S, A S T M H e § dAd w A
‘alg‘ff ﬁ;f @( foar ‘ﬂz{tl / The OMR Answer Sheet is inside this Question Booklet. When you are directed to read the Question Booklet, take
out the OMR Answer Sheet and fill in the particulars carefully with black ball point pen only.

2. UM ol 2.30 g 2 U@ QQ:T-W # 150 ueT ¥ B WONHD HH Tt 1 / The test is of 2.30 hours duration and consists of

150 questions. There is no negative marking.

3. AT R ok 0 @ S TE W MM @ & T 3ed B a9 O F S B el 9eT-gRaEm B Iwa & w
I U5 P AT § @Y 91 / Use Black Ball Point Pen only for writing particulars on this page/darkening responses in the
Answer Sheet. The candidate should remain careful in handling the question paper and in darkening the responses on the answer

sheet.

4. yum 10 fFe #, 75 A ghRed & & B ae-gRam #HF o S T FHiE 0 8 81 OFR 38 B 8 a1 ged-giae § a3 s
missing I1 misprint & et iﬂﬁ H-‘FT-WEH AN T ©H o9 B fora e P [SASSESENN] Wﬁl / Within first 10 minutes,
also ensure that your Question Booklet Serial No. and Answer Sheet Serial No. are the same. In case of discrepancy or any page
missing/misprint in test booklet, then the candidate should immediately report the matter to the Invigilator for replacement of both
the Question Booklet and the Answer Sheet.

5. qad-2 [FT VI § VIO B Q] 5. Level-2 [ For Classes VI to VIII ]
qF-1 S oo 9 Rem e 71 | 599 30] PART-1 : Child Development and
I S (77 31 & 57 60] AT« L Pedagogy [C[)Q”; :O g”' Zg}
. T —II : Language: n. o Qn.

(B 18507 7 1 185%7) (Hindi : 15 Qn. & English : 15 Qn.)

AR AT ST [T 61 & 527 90] PART-III: General Studies : [Qn. 61 to Qn. 90]
(' RS T < 10 TS, b ST < 10 9, T (Quantitative Aptitude : 10 Qn, Reasoning
T T A : 10 95) Ability : 10 On, G. K. & Awareness : 10 Qn.)

qF-IV QIS Tegs @791 § U3 150] PART-IV: Social Studies [Qn. 91 to Qn. 150]

|[=ﬁ€ RIS W 3 o & Ru 9w R @ Q%fl / Please read other remaining instructions given on the last page of this booklet. ]|




% 4 & T [FOR ROUGH WORK]

Download from www.MsEducationTv.com



9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafad gt & SR 39 & [T @98 SRE fased ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

frfefeg & @ @9 e
e @ G 78 B 7

1) HHAFEC & +EH

2) H=~Iar &1 |

3) Ui @ fEw

4) A 1 HEH

Freifafad & @ d9-01 g8 & &
fepaTees Terer & ' 7

1) HIg H b fSET g

2) TQFISY & GE-TeT TOeoT

3) AP ®H A ThE

4) WARRE-f g

Freifafad & | HF-a1 aRg e 56K
H U TE T ?

1) e e

2) fasweme® usH

3) TEAHIEH U

4) R wE g

Rt & o fae Rl & STgER,
fepQMRTareeT ® :

1) e FuredaE @ sTawn
2) e Afcepar @ oTaw
3) TN Afoehdr @i oTaeen
4) TW@ET Afqwar H afaeen

[ Level-2/1212]

Which of the following laws is not
related to heredity ?

1) Law of Similarity
2) Law of Variation
3) Law of Regression

4) Law of Progression

Which of the following is not a
performance test of intelligence ?

1) Koh's Block Design Test
2) Alexander's Pass Along Test
3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an
objective type question ?

1) Matching questions

2) Analytical questions

3) Multiple choice questions

4) Blank space questions

According to Moral Development
theory of Piaget, adolescent period
is:

1) Stage of moral realism
2) Stage of morality constraint
3) Stage of heteronomous morality

4) Stage of autonomous morality

P.T.O.



[4/A]

5.

fr=fofeg & @ H9-91 fadwar fEe
ERUR SR UES IS E NI RGN CCAT IR TS|
% g HisharcHeh e § Heifad 787
g7

1) IeRAUIRAT (TAeE &l &)
2) THASE

3) Sigar

4) GO

i freaell & st § dm-

HI Tl T& © ?

1) ®is A & AR e Th-gHH
T& Bl

2) Yl Framd fagwarel & deEy
T foa B

3) s framd ot gHuar H
Ziaal P ST B B

[ Level-2/1212]

Which of the
characteristics is not related to the

following

concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

Which statement is not correct in
context of individual differences ?
1) Two persons are not exactly

same.

2) Individual differences are
deviation in regards to
characteristics.

3) Individual

distinguish individuals in their

differences

totality.

4) Individual differences are the
sole result of heredity.

When the lesson to be learned by
a child is long and difficult and
requires a lot of understanding,
then which method of learning will
be appropriate ?

1) Spaced method

2) Whole method

3) Massed method

4) Incidental method



8.

10.

11.

aftrm g ==t & fom @e-a
farerer g1 wmSE 78 Brm ?

1) A 4§ Sieq

2) o 9 o

3) TOH 9§ STE

4) G § I

Frfafed & | #iF-a1 9| & &

Rrsia 78 & ?

1) fopr| oTTgdiRwERaT TE waiEaRe @
SR Bl

2) s Yot Q@A e Bl

3) foprd ek 9 & STIERST &I
Bl

4) o Tm= ¥ fofe @ o)
5T 2

e midsie & ogaR St @
eI fehr & |rHIirh T |l
FH I FH AT Bl § 7

1) dFeEn 2) e

3) TN 4) =

Freffad & | d=-a e §

TS fabrE Bl T aH st

7§ ?

1) A & " aEeEye
ey

2) 41 |HITE a9

3) TEEH & @i

4) dR-ge

[ Level-2/1212]

8.

10.

11.

[5/A]

is not
learning

Which teaching maxim
beneficial for the
disabled children ?

1) Simple to complex
2) Abstract to concrete
3) Direct to indirect

4) Known to unknown

Which of the following is not a
principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is

predictable.

3) Development follows linear

path.

4) Development proceeds from
general to specific.

According to which psychologist,
the role of social and cultural factors
are important in the cognitive
development of children ?

2) Piaget

4) Hull

1) Vygotsky
3) Bruner

Which of the following is not a
common characteristic of social
development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping
3) Search for identity

4) Hero-worship

P.T.O.



[6/A]

12.

13.

14.

P ® A GEd s H

PF-G TR qRERG  Afwar B

WX 9§ qat 78 ' 7

(a) Hidam= T g

(b) 318 STIqarR® dae

(c) QISR e ST &=

(d) I oTEY AR AR
TR

7ET HT W T I

&c -

1) (a) W@ (b)

2) (b) W ()

3) (a) W (@)

4) (c) W@ (d)

YN U fiaq Sl AT gishanatt
% TN HIEAT Hedr © -

1) FATHOMHD HIEAT
2) THE HiEH

3) €IS HEHT
4) WEES HE

gmhe A & gl § #e-dl
freror-atfrm ToMifa faenfdet & fom
Taifys IR ® ?

1) &3 999
2) HT

3) TR

4) HERE Iaa

[ Level-2/1212]

12.

13.

14.

Which stages of Kohlberg's Moral
Development theory are not related
to level of conventional morality ?

(@) Individualism and exchange

(b) Good interpersonal relations

(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :

1) (@) & (b)
2) (b) & ()
3) (@) & (d)
4) (0 & (9

Learning through mental
like

reflection is called :

processes attention and

1) Imitative learning
2) Motor learning
3) Cognitive learning

4) Aiffective learning

Which teaching learning strategy is
most useful for students in context
of social learning ?

1) Field trip
2) Lecture
3) Experiment

4) Brain storming



15.

16.

11.

18.

Yodtd & offEed faeiq § w@rias
Ud FHEE IEUR F A AgEET W
PY-T1 PRE THD @9 q FHI
T& HXA 7

1) TETh & TERABT B IYYH

a1y

2) IS H TGN
3) FERG amdERT
4) UH B HHI

frfafed & & PM-a1 HRH RE
MR Uik @l ywifad 78 &
g7

1) TR & IRR® &9

2) fers @ AR e

3) farerh 1 fawgasg =

4) T &1 G BN

frfafeg & ¥ d9-T1 #BR®
e ®REH B SR el @
frepre @t geIfad 787 ear ¢

1) 9N

2) TR ® AN W B ARG

GRIG]

3) gHem

4) = it

diFes® & ofm Rreid & FgER
fre w3 9w § gefg B ?

1) TEAr & e

2) AEE H I

3) g¥E H +EH
4) g ufeichar &1 =M

[ Level-2/1212]

15.

16.

11.

18.

[7/A]

In Pavlov's Conditioning theory,
which factor does not positively
affect the conditioning between
natural and artificial stimuli ?

1) Appropriate timing of stimuli

presentation
2) Repetition of stimuli
3) Controlled environment

4) Lack of motive

Which of the following factors does
not affect the teaching learning
process ?

1) Physical appearance of teacher
2) Mental health of teacher

3) Content knowledge of teacher

4) Communication skills of teacher

Which of the following factor does

not influence the development of

child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

'Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning
theory ?

1) Law of readiness

2) Law of exercise

3) Law of effect

4) Law of multiple response

P.T.O.



[8/A]

19.

20.

21.

22.

Frefafad & @ SF-a1 M SIRERen
% il Ud 3T Siquesl & g9 §
& 78 8 7

AREROTeT Reia s
1) 99 Sgii i qefhad

2) AR TR AEQl
Rergfa
3) uUle fid gead

4) Iqafer ARERem EESIRES
R

T fren | aed ® ¢

1) 9o &9 9 dfgd s=a & [
faremr

2) T T=af & fou Qe

3) UMM W@ R T d WU
faremr

4) 99 g 3 0 R

frfafag & & $H-a1 g6 oiftem
1 U Rrsiq 7@ 2 ?

1) SARERem

2) AR Tgd

3) MRy SuRefa

4) Tiage

M % AR, % R ax ek
& P9 ITaqq WX @ A d@ o
ST T Y9 HT ey ?

1) U SAEH

2) HHE QAN AT

3) I\ M

4) fa¥Ed IrREy

[ Level-2/1212]

19.

20.

21.

22.

Which of the following pair is not
correct regarding motivational

theories and their proponents ?

Motivational Theories Proponent

1) Instinct theory Atkinson

2) Need Hierarchical Maslow

theory
3) Drive theory Woodworth
4) Achievement Mc'Clelland

Motivation theory

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for
disabled children

4) Education for all children

normal and

Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach

3) Passive attendance

4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning

2) Problem solving learning

3) Rule learning

4) Discrimination learning



23.

24.

25.

wi % BrEe Reld § ge @
e 9 vegell W &« faam T ® 7

(a) g

(b) SIS

(c) HfhaTH®

(d) TETeTH

7&7 F< H =TI HIT :
1) (a), () W (c)

2) (b), (c) T (@)

3) (a), (b) T (d)

4) (a), (c) T (d)

gt Tfa & Sfrmeat & T Be-T
fereh EETAT SUH 7o © ¢

1) @R

2) SUARIAS e

3) AXE I

4) HeH o Aty

fpeTRIeeer # wipd |HISEh  FaeR
Y @ fT 78 e H A W -

() W FA
(b) T

(C) STE-Fisad
(d) Ecaea

1) (@) W (b)
2) (b) W@ (@)
3) (a), (b) W ()
4) (a),(c) T (d)

[ Level-2/1212]

23.

24.

25.

[9/A]

Which
intelligence are emphasized in the

three aspects of

triarchic theory of Sternberg ?
(a) Componential

(b) Experiential

(c) Operational

(d) Contextual

Choose the correct code :
Code :

1) (@), ®) & (c)

2) (b), (c) & (9)

3) (a), () & (d)

4) (@,() & (d

Which educational intervention is
not suitable for slow learners ?

1) Acceleration

2) Remedial teaching

3) Drill work

4) Cooperative teaching method

Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills
(b) Empathy
(c) Ego-centrism
(d) Stereotyping
Codes :
1) @ & (b)
2) (b) & (d)
3) (@), () & (o)
4) (@, () & (d
P.T.O.



[10/A]

26.

21.

qaq U AUh qedih B Fe o
g

(a) TR TUET o=

(b) JUGH FWA & & FRRR
REIGSE

(c) A T G- A A @
i HTT

(d) Daw Afrw Iuwfer T

7ET HT W T I -
%< -

1) (b) T (d)

2) (b) W (c)

3) (a), (b) T (c)

4) (b), (c) W (d)

¢ AR e & g el @ o1
qEERT & W ik give
FA &, I8 FEAN ©

1) fafarse faren
2) yufasier farem

3) Ui farem
4) guEsh fwEm

[ Level-2/1212]

26.

21.

The true meaning of continuous

and comprehensive evaluation is:
(a) Taking frequent tests

(b) Taking continuous tests at

appropriate intervals

(c) To evaluate scholastic and co-

scholastic both aspects

(d) Measuring only educational

achievements
Choose the correct code :
Code :
1) () & (d)
2) (b) &(c)
3) (@), (b) &(c)
4) (1), (0) &(9)

The education which promotes
leaming by doing' and ensures the

students interaction with their

environment to learn, that is known as :
1) Special education

2) Progressive education

3) Integrated education

4) Inclusive education



28. gfeaiym fenfl & fog @F-w

29.

30.

feer wWeme  @rER SWERT 78
Bl ?

1) sa aEsh

2) el fohdret

3) % Rgw

4) I g HFRE

AR H g FO A e
PRbl & F&l R BN TIT BT :

(a) SRR

(b) e

(c) S

(d) 399

1) ()9 (d)

2) (a), (b) T (d)
3) (a)TW (c)

4) (a), (b), (c) T (d)

T% A Hfear oI S=d & faQ aol
AR g8t § SR FE § TR I@
Y B

1) feeaieRma

2) fewiforan

3) feanfthar

1) e

28.

29,

30.

[11/A]

Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the

following factors, which affects

learning :

(a) Motivation

(b) Aptitude

(c) Interest

(d) Attention

Code :

1) (©)&(d)

2) (a), () & (d)

3) @&(0)

4) (@), D), (©) & (d)

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2/1212]

P.T.O.



[12

/A]

HRT— 11/ PART -1l

A (=) wd Si¥sh) / LANGUAGES (HINDI & ENGLISH)

f&=t (HINDI)
fraer : i gl & SR 39 & e @98 S faee gim

31

32.

33.

34.

. AW 9= & d@¥g § @E-@ g
oGIT B 7
1) 998 - foma
2) forg - 4wy
3) THYY - aHH

o o

4) Tt - e

T H HH-G7 GHEIE ST
T § e ghfa 787 8 7

1) TSRO - Y YT

2) [T - AR TYEW
3) @ifehd - HOT TYET

4) RAMEIR - FIEH TGET

=1 4 @ aF-a1 Y 9= o g™
q gAfera 787 © 7

1) Ifid - o |y

2) TAgs - foe €Y

3) WeRW - gha WX §f

4) TGS - o1 @) 9y

O, qE T I g9 B HA:
SR WM R

1) drY, &S, S

2) I, %S, a1

3) FUS, &, D

4) 33, FU3, Y

[ Level-2/1212]

35.

36.

31.

38.

forq faehed &1 AT Qdehlicih fohaT
e F& 8 7

1) TH GThY = T

2) T AW BT AT FE A R

3) €l EFT ST STEgR S

4) AAU® IO B BE|  H

e

A9 T GO T SH QI B
el e ®

1) Ted @ % § A S

2) STFYSTM Gai Bl B

3) AW & T R B Fen A
4) I R FH FA

Il % 0 T q= & GEg A
HI-91 JH ofGTT © 7

1) 8 a8 & FeT & - e
2) @ foelt 3 9 g1 & - o

3) B B F F T/ -

4) fasrg ot &t i 3281 - s

g e & weal § A YRS
T & ?

1) GeioH, el
2) Waw, Gead
3) AW, W
4) TEHI, AT



39.

40.

41.

42.

e e PREO-HERAT
SE-JH H FAL: 7o 7Y © 7

1) X, ¥

2) %I, Y

3) fofi, g

4) Fu, e

et 4 @ @9-ar 9= ‘aqw @
e 78§ ?
2) P

1) 99
3) R 4) FER

gﬁw%ﬁﬁaﬁaﬁﬁ—wzﬁww’w

?

1) FE T 9= 9 95 @ A
wEifed et &, 3§ fafver #eq

2) ‘9, &M, T I,
MR EICEAREE L IR T L ]

3) ‘G ¥ HE B Ted & -
TEaEs AT H ST D
4) Hedars GO H {6 9% @l

51 0 B 7 | o S

gw%ﬁﬁaﬁﬁﬁ—wzﬁaﬁw:@?

?

1) Fdaras el & YA Hed
(sl & otfafed) whaee #
2T R

2) 3, WER, & IH AarEa®
T B SEET 2

3) GoEE®  q ‘A,
gﬁaﬁzﬁw%zﬁﬁaqﬁaﬁ
|

4) fEr, witw Sw o Afw
ATadTeh Gl & IAEL 2

43.

44.

45.

[13/A]

o & HEg d dHe-a g O
7 & ?

1) ¥ T ST BT - e
ERIC

2) HW T HE 89 W D -
IR FERCIEC R

3) F 7 A Rl =g o -

YIS GaTy
4) I8 @ F GIR W © -

ferotares gaa
frr # § aF-a1 9= ‘oaES
dfesd g’ @ g 78 ® ?
1) ITg
2) HE
3) ag
4) AqHA
ST @ 3§ fRE 9w @

T=E-H oFIT § 7
1) Y - e, P
2) o - e, =
3) T - e, Wi

4 - ¥ gd

[ Level-2/1212]

P.T.O.
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[14/A]

it / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

46.

41.

48.

49.

Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?

2) Has the work been done ?

3) Had the work been done ?

4) Will the work be done ?

Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

Fill in the blank with the most
appropriate modal auxiliary :

Your mother is seriously ill. You
........... leave for home at once.

(obligation)
1) needs 2) might
3) could 4) must

Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2/1212]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
A) ®)

record held / by Bradman who

< @)

made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy



53.

54.

55.

Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

[15/A]

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoonas

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender

[ Level-2/1212]

P.T.O.



[16/A]
ART— 1l / PART = 1ll
| 319599 / GENERAL STUDIES

TS JAdT, Tliches STWRFTAT a9T /T M U9 ST / Quantitative Aptitude, Reasoning
Ability and G. K. & Awareness
e : Frfoied geit & S 39 & fou @@ Sfa e gim

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

A, 79 Rem § uiR=m™ H 8 =
R T I oA} 2 fPl gear § g
T YR 5 fHHl ToRm 8, O d®
oA fg & dedl § o9 fpw fRem
FRaq e ?

1) aRor-uided

2) JA-qiveH

3) IR-d

4) R

I Rl g W § PROJECT' &
'CEOPRT' @ 'PLANE' & 'ELNP'
ferEr ST B, @ 'ORGANISED' &1 341
%S WO H {8 SR foren S ?

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

qeH B Th G §, A S @ 9
79 T B T @& § 129 M W
g, It o7 Wl ¥ WER uRadd
fPar ofam B, @ A & S W% 4@
2291 WM & S B, O U § g
qSH B @ R
1) 27

3) 33

2) 31
4) 34

[ Level-2/1212]

61.

62.

63.

A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West

2) North-West

3) North-East

4) South-East

If 'PROJECT' is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR

2) ADEGIROS

3) ADEGOIRS

4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a

row ?
1) 21 2) 31
3) 33 4) 34



64.

65.

66.

61.

% IRAR §, A, X & [ 8, B, Y @l
AR, AN X T Z B T Y B, A
frfafag ®oi § @ dF-T1 A
ffdaa w9 & @& 78 & 7

1) B,A & Tell ©

2) B&H T G2

3) X,AHER

4) Y,Z P 98T 8

& T JEar § 7o 6 €

0,3, 9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

gfc A sfaer Rem § 8 fobl SR &
e TH AT 6 Ol I@ar & e
g IO-d Rem A ggat 10 R
To 8, O A IR g @
U We?
1) 0 fpet
2) 8 fmt
3) 10 feet
4) 12 feet

I 10 AR hEr FE @ (g}

ar
I & § 8 9 &g B, af S #e
% AV HE A 12 R F O =9 B
foq fohoe fTal @l STaYTehdT B 7

1) 6 2) 8
3) 10 4) 12

[ Level-2/1212]

64.

65.

66.

61.

[17/A]

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following
statement is definitely not true ?

1) Bisthe wife of A
2) B has a daughter
3) XisthesonofA
4) Y isthe sister of Z

Find the wrong number in the
given series :

0, 3,9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting
point ?

1) Okm
2) 8km
3) 10km
4) 12km

th
If 10 persons can complete (gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6
3) 10

2) 8
4) 12
P.T.O.



[18/A]

68.

69.

10.

11.

12.

W T O @ SR U B g
Rre oA 32 & 3 AR Brge &
aia: Bowr 6 T €, aft B @ ot
576 g9 QU 3, A 3EH SR B :

1) 4 a9 2) 5 I

3) 6 I 4) 8 i

I o FEfa sgye d R @
geqr 27 @, o FHhl Sel @l
de e
1) 6
3) 10

2) 9
4) 12

& g arge A T B #, dfem
WNIW\’:‘I@LIICIEF’:[QTZS:ZWS:4
g, 3 Mg argelt § @ A & 7 R
wd B @ 21 @ e @& TE fE
g S SR 8, 39 8 (e aig |
qTe T ST B STIAT H & 7

1) 1:2 2) 2:1

3 2:3 4 1:1

I 7 cosec © — 3 cot © = 7 & O
gOH TGl § &, @ 7 cot 6 - 3
cosec§ H TN © :

1) 3 2) 5

3) 3/7 4) B/7

I TF g9 H, T GG Yo ABC
sfatifeq fram smar B, B & ot &
gl T we @Rl 8 s drn
fBrygor =i

1) fquHetg Bygs

2) THigSTg By

[ Level-2/1212]

68.

69.

10.

11.

12.

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
576 cc, then its height is :

1) 4 cm 2) 5 cm

3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9

3) 10 4) 12

In two alloys A and B, the ratio of
copper and zinc is 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

1) 1:2 2) 2:1

3) 2:3 4) 1:1

If 7 cosec 6 — 3 cot 6 = 7 where 0 is
in first quadrant, then the value of
7 cot 0 — 3 cosec O is equal to :

1) 3 2) 5

3) 3/1 4) 5/1

If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle
4) Right angled triangle



13.

14,

15.

16.

11.

Uk HAER, TF a&f 15% @ W
ST B, W AT Iq 18 TN ARH
9 S g, af e 18% & S 3"
I&] 1 F9 gA (W H) B

1) 600 2) 540

3) 350 4) 380

Fr=ifataa 2ol & @ % © ¢
DBC, KIJ, QOP, _? , ZXY

1) VUW 2) USV

3) UTV 4) VTU

a TS GEell H W) 3 8, I
ST N H AN 369 B, A
el & A B

1) 25
3) 31

oo & T dMea H o faee,
AR B 12 A JT AEA H 5
T B, @ AR SEH AVGA 36 &,
T B

1) 2706
3) 2796

2) 27
4) 33

2) 2736
4) 2766

ak A ‘W @, B AN @', C
‘HeM FH’ T D PH B TR
FA E, AW20C 12B8A2D 6
R ¥

1) 16 2) 18

3) 32 4) 36

[ Level-2/1212]

13.

14.

15.

16.

11.

[19/A]

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600 2) 540

3) 350 4) 380

The missing term of the following
series is:

DBC, KIJ, QOP, _ ? ,ZXY
1) VUW

2) USV
3) UTV 4) VTU

The difference between two
positive numbers is 3. If the sum of
their squares is 369, then sum of

the numbers is :
1) 25
3) 3l

2) 27
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is:

1) 2706 2) 2736
3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by, then 20 C 12 B8 A2 D 6 is
equalto:

1) 16 2) 18

3) 32 4) 36

P.T.O.



[20/A]

18.

19.

80.

8l1.

82.

Th A 12 fheiHie &l gl 3
i ger, 18 fpaHie &l gl 9
gfy guer qen 24 fheidieX @l
et oftr gver & @@ ear §, @
g T F B AEd =T B
1) 4 fpel/"0er
2) 4.2 fHl /AT
3) 4.4 fRHl /AT
4) 4.5 R4/

R T et § & W @& §
T
1)
3) R

1%

27

2) dom
4) =gq

gk 16-4=2,9-3=2,81-3=4
B, O 64-4 FH O B
1) 3 2) 2
3) 4 4) 6

1857 & fagle & M, i o
9 fhaq Ueas d fofewr foami W
STRHT fopar ?

1) B A

2) IHM Tl
3) HieX g

4) TgE W™
R B AR qeiedt & gy §

1) W& e |

2) RgHa gu |
3) R # S’ @ |
4) RRueE @ o=iRe & |

[ Level-2/1212]

18.

19.

80.

8l.

82.

A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr.

covering the whole distance is :

The average speed in

1) 4 km/hr

2) 4.2 km/hr
3) 4.4 km/hr
4) 4.5 km/hr

Find the odd word from the given

alternatives :
1) Violin 2) Harp
3) Guitar 4) Flute

If16-4=2,9-3=2,81-3=4,
then the value of 64 — 4 is :

1) 3 2) 2

3) 4 4) 6

During the revolt of 1857, who
among the following attacked
British establishments in Rohtak ?
1) Tafzal Husain

2) Imam Ali

3) Mohar Singh

4) Harsukh Rai

The Morni hills of Haryana belongs
to:

1) Aravalli range
2) Hindukush range
3) Outer range of Himalayas

4) Inner range of Himalayas



83. =R ¥ Fre d@W &E &R0
g7

1) g
2) fier
3) He=Te
4) ST

84. sfwmnm & fhaet dedi B ?

1) 95
2) 49
3) 143
4) 74

85. eaem & fh9

3) AR
4) IR

e

86. FodloTHoHlo & TFIHT, S PRl

T efaen & T = F

1) fo To Mo fhaag
2) 4 JIwR g S
3) i flo THo Tk
4) & HEEN U9

[ Level-2/1212]

83.

84.

85.

86.

[21/A]

In Haryana, where the Vulture
Conservation Centre is located ?

1) Jind

2) Pinjore

3) Mahendragarh
4) Ambala

How many Tehsils are there in
Haryana ?

1) 95
2) 49
3) 143
4) 74

In which district of Haryana, the
Khelo Archery
ranking competition was organised ?

India Women's

1) Sonipat
2) Panipat
3) Karnal

4) Yamunanagar

The  UPSC
subsequently became the Governor

Chairman, who

of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney
3) ShriB. N. Chakravarti

4) Shri Mahabir Prasad

P.T.O.



[22/A]

81.

88.

89.

90.

IqEad B B Bl SAEE IR
BECl d UiRUT e B BRAmm
THR BT I off W&l JoT ®

1) T BEA AT AN
2) A fovEa
3) AW Ul 7 fRrEd
4) BTN &9

gREmn § [eed 3R off% e
SIS HeI Fel e © 7

1) qEud
2) STl
3) =g
4) HHEA

gRAT % g Fe SAHEY DA © 7

1) Sl S e
2) gfo TER e

3) ot fav adw

4) ZFdl FHAEY HOSRI

g & Frefofed & & & @
RO A0 & AW d AhoF g 7

1) S W A
2) T MG ™
3) e ACH T
4) ET GOT A

81.

88.

89.

90.

The Scheme, which is being run by

the Haryana government to

replace paddy crop with more
tradition cropsis:

1) Meri Fasal Mera Byora
2) Meri Virasat

3) Mera Pani Meri Virasat
4) Hamara Dhan

Where in the Haryana, the National
Institute of Fashion Technology is
located ?

1) Panipat

2) Ambala

3) Panchkula
4) Kurukshetra

Who is
Officer of Haryana ?

the Chief Information

1) Smt. Jyoti Arora

2) Dr. Jagbir Singh

3) Shri Vijay Vardhan

4) Smt. Kamaldeep Bhandari

Who among the following Sages of
Haryana was popularly known as
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
4) Baba Puran Nath

[ Level-2/1212]



9T - IV / PART - IV
gt 1&g+ / SOCIAL STUDIES

[23/A]

fraer : i gl & SR 39 & e @98 S faeke gim

Direction : Answer the following questions by selecting the most appropriate option.

91. =1 & & HM-a1 W W& gk a7
g7

11 O 112

1) &gFE-u-aF : Iegame

2) EEm-T- D STAGE Gl
JeaErt
3) dAM-T-HE YR foe
gt

4) fEE-T-ERE e

92, =1 § @ fH® aEs B YOI H

“gAeEIS’’ Hel Tl & 7

1) fafeEr
2) S
3) g

4) TEIIEHTR

[ Level-2/1212]

91. Which of the following pairs is not

correctly matched ?

1)

2)

3)

4)

Department Founded by

Diwan-i-Arj : Iltutmish

Diwan-i- : Alauddin Khalji
Mustkharaj

Diwan-i- : Muhammad Bin
Kohi Tughlaq
Diwan-i- : Firoz Shah
Khairat Tughlagq

92. Which of the following rulers was

called "Sarvakshatrantak" in

Puranas ?

1)
2)
3)

4)

Bimbisara
Ajatashatru
Shishunaga

Mahapadma Nanda

P.T.O.



[24/A]

93. FHH-I X HH-II § T F& e

94.

B AT DI

HiTH-1 HiqH-11

A. TET AR AN FRT () 1917-18
TS I & A0

B. %%l TifkeFal (i) 1948
KUCEECIES NI
C. 79 onf¥& Hifd (i) 1951

D. P¥ WFE T god (iv) 1965

ST
1) A 2) Bdii

3) C-iii 4) D-iv

P § & -2 g @ i ¥ 7

A. e Su R : qeebe-T-A
B. RN I¢ : GRIE-T-HISE
C. ¥R Gadl : Fe-Iq-HamiH

D. g SICEREN RN CIRC)

& -

1) AB,D

2) A,C

3) A,B,C

4) A, B

[ Level-2/1212]

93.

94.

From Column-I and Column-II,

choose the correct pair :

Column-I Column-II

A. Measurement of (i) 1917-18
NI by Dadabhai

Naoroji

B. Establishment of (ii) 1948

CSO
C. New Economic (iii) 1951
Policy
D. CACP @iv) 1965
1) A-i 2) B-ii
3) C-iii 4) D-iv

Which of the following pairs are
correctly matched ?

A. Minhaj-us-Siraj : Tabkat-i-Nasiri
B. Ziauddin Barani : Tarikh-i-Firozshahi
C. Amir Khusrau : Futuh-us-Salatin
D. Badayuni: Muntakhab-ut-Tawarikh
Codes :

1) A/B,D

2) AC

3) AB,C

4) A,B



qreE UL
i. M A ¥
i, g B. M
ifi. goff C. gl
iv. JEHLT D.

1) i ii i iv
2) iv 1l il i
3) iv il 1 iii

4) i i il iv

96. Wbas I SM@EAT H fhad @el &
“FTER A YA’ Al I b
SR # Tedl He SR ARSI
HEIHl B 9 § AEN © @87 7

1) SO qER
2) Hio (Ee e
3) IS ok
4) Fo Fo A

[ Level-2/1212]

95.

96.

Match the following :
Factor

i. Labour

ii. Land

iii. Capital

[25/A]

Return
A. Profit
B. Rent
C. Wage

iv. Enterpreneurship D. Interest

A B C
1) i i i
2) iv i i
3) iv i i

4 i i i

D

iv

iii

iv

In criticism of democracy who said

"Liberal or 'thin' democracy is

contributing to growing cynicism

about politics and the paralysis of

public institutions" ?

1) Benjamin Barber

2) C. Wright Mills

3) Bernard Crick

4) ].]. Rousseau

P.T.O.



[26/A]

91.

98.

99.

qrad ¥ oo o & R o deen
FH TEAM B :

D ai{léo éTo Eﬁo all'lgo
2) &R
3) fuest

4) ERAT Ve FeRRT Tiwer
qug WQ SIAUHE S [T

99 Bdl § HA B [T B HH A A
AR AT NB B FAT F TR A
3 R S &1 3T YBR B SASFMA
el B

1) GRS SRS
2) B SUSF
3) W S
4) TEHIF IS

Freifafad & & @9 g9 @@
gAfed 8 °

A JM®

B. fmwX

C. &b

D. &

&c -

1) A B,C

2) A,B,D

3) %A A, B

4) A,B,C3RD

e
AR

EHEA
SR

[ Level-2/1212]

91.

98.

99.

Identify the apex institution for
rural financing in India :

1) IDBI
2) NABARD
3) SIDBI

4) HSCARDBL

When there is no work to do on
farms, people go to urban areas to
This kind of
unemployment is known as :

look for jobs.

1) Structural unemployment
2) Disguised unemployment
3) Seasonal unemployment
4) Cyclical unemployment

Which of the following pairs are
correctly matched ?

A. Ashoka Nigrodha

B. Menander Nagasena

C. Kanishka Mahakassapa
D. Harsha Huentsang
Codes :

1) AB,C

2) A,B,D

3) OnlyA,B

4) A,B,CandD



100. fHEY AMT f6 “HUYAT W GROM &

101.

102.

ToMiaes fEd 9 s & S
Tifew”’ ?

1) fi=d

2) TR&H

3) Tdo Sio AH
4) a9

‘“qgo Slo Slo IWEA TUSF-3.0”
Rare & efaren frg I & wr R ?

1) e (100)
2) %< TX (65-99)
3) WM (50-64)
4) TREE (0-49)

qrl ST ©
1) 0°C |
2) 8°C W
3) 15°C W

4) 100°C W

[ Level-2/1212]

100. Who held that

101.

102.

[27/A]

"The notion of
sovereignty must be expunged

from political theory" ?
1) Lindsay

2) Barkar

3) H.]J.Laski

4) Krabbe

In which category has Haryana
been in the "SDG India Index-3.0"

report ?

1) Achiever (100)

2) Front runner (65-99)
3) Performer (50-64)

4) Aspirant (0-49)

Water freezes at :
1) 0°C

2) 5°C

3) 15°C

4) 100°C

P.T.O.
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[28/A]

103.

104.

TEE H Jed MG Ty §
1) Ted

2) P

3) &H

4) I

Frefefed & @ &= slFfE &
Rrgia & de & @@ ® 7

A. IFRReH  daEEE R
fqeame F3a1 © % Faw I AN &
St Rt 9y ®E | oW g,
aedg H I Rl B W #R
T B

B. 3t fomid # foww@ & &
TER T & TGN B all &
INISIER e IR I G F]

1) %ad A
2) HI3 T
3) @%ad B
4) A,B aNf

[ Level-2/1212]

103.

104.

Major human activity in Ladakh is :
1) Tourism

2) Agriculture

3) Mining

4) Industry

Which of the following is true
regarding theory of

representation ?

A. Characteristic representation
believe that only people who
are drawn from a particular

group can genuinely articulate

its interests.

B. Mandate doctrine believe in
popular guidance to those who

exercise government power.

1) OnlyA

2) None

3) OnlyB

4) BothA,B



105.

106.

1017.

Fer & @ fom w9 4 Ry A
SSRGS SIS TG KGR |
g7

1) TR
2) WERTE
3) T Uedl
4) G

oo e R H o T R T
g 7

1) oEE

2) g

3) (1) wd (2) I T B
4) (1) w@ (2) I T §

D-T (TEH-JTh) ol dA |
77 ?

1) S AR - T B g

2) RN €1 sgdit - ARgeT
Gifcrfeer’
3) SE Wied - ‘T B fifew’

4) TAH g% - BER 4 HE

[ Level-2/1212]

105.

106.

1017.

[29/A]

In which of the following states is
the Indus Valley Civilization site

"Juni-Kuran" located ?
1) Gujarat

2) Maharashtra

3) Uttar Pradesh

4) Punjab

What is the name given to the full

moon night ?

1) Amavasya

2) Poornima

3) Both (1) & (2) are right

4) Both (1) & (2) are wrong

Which one (Author-Books) is not in
right combination ?
1) Germaine Greer - 'The Female

Eununch'

2) Simone de Beauvoir - 'Sexual
Politics'

3) Betty Friedan - 'The Feminine
Mystique'

4) Naomi Wolf - Fire with fire'

P.T.O.



[30/A]

108.

109.

IRA & IaU WM ¥ ™ T g%
WY Ya- 47 Hear & ?

)
2) g
3) MRS da+

4) T fpeT g &
-1 &R GE-II & gafia &g

AR gl & R W FHe B IwEm
Y B FeJ I H TIAT HIT

Q-1 QE-11
A. T & geasak (i) T &
HiaX

B. G H IR (i) TR
TfeY EH|

C. TR H oIy (i) T 9
HfeY

D. TRl H HARIT (iv) Ted 491
HerRg HieT

% -
A B C D
1) @) @ @) @)

2) (i) (@v) (i) ()
3) () ) @) (v
4) (i) (@) @) (@v)

[ Level-2/1212]

108.

109.

Hot and dry local wind of Northern
Plains of India is called :

1) Loo

2) Monsoon

3) Trade Winds

4) All options are wrong

Match the following List-I with

List-II and select
answer using the codes given

the correct

below the list :

List-I List-II
A. Brihadeshwer (i) Gupta
Temple of Dynasty
Tanjore

B. Dashavatar (ii) Rashtrakuta

Temple of Dynasty

Devgarh

C. Kailash Temple (iii) Chola

of Ellora Dynasty

D. Kandariya
Mahadeva
Temple of

(iv) Chandela

Dynasty
Khajuraho

Codes :
A B C D

) @) @) @) (@Gv)

2) (i) (v) @) @)

3) () () () (@v)

4) () () @) @)



110. 3 g U ®H-9 & = oo

111.

T g YHIS BT & 7

1) T
2) R
3) IWE

4) gt ey @&

TSgae &l Al B gC (e
‘Aol AR oA
HAreAcHh T Tel & Fehal; A
oMed wHaar 81§ ER @ HHd W
Fg T8 T, IR 5« q% § Sifaq
g, ¥ iR F AMEar W e TRl
g g ?

wel a1 &

1) HerEr e
2) Vdiga 3T
3) dgg W

4) oR(EE 99

[ Level-2/1212]

110.

111.

[31/A]

The celestial bodies which have
their own heat and light, are called

as :

1) Planets

2) Stars

3) Satellites

4) All options are right

In critique of nationalism who said
"Patriotism cannot be our final
spiritual shelter; my refuge is
humanity. I will not buy glass for
the price of diamonds, and I will

never allow patriotism to triumph

over humanity as long as I live" ?

1) Mahatma Gandhi

2) Ravindranath Tagore

3) Bertrand Russell

4) Aurobindo Ghosh

P.T.O.



[32/A]

112.

113.

114.

R ERCRERINCIIRCIG I o T
&Y 7 api e g e

1) o9m" |

2) IO SN

3) d5 A

4) S dih
Frefefed & & ®i9-61 q9a e
& oAb T& & 7

1) dlo #o Tdo Mo

2) THo o o

3) dlo THo Fo

4) iy <Al g
Frfofed & & SF-H 9991 AR
w@E?

1) 23°30' I

2) 23°30' afeyof

3) 82°30' Edi

4) 0° I

[ Level-2/1212]

112.

113.

114.

Who described freedom as

'silence of laws' ?
1) Thomas Hobbes
2) Isaiah Berlin
3) Bertrand Russell

4) John Locke

Which of the following is not an

indicator of Human Development ?

1) PQLI

2) HDI

3) BSE

4) Per Capita Income

Which of the following is called

the Prime Meridian ?

1) 23°30'North

2) 23°30' South

3) 82°30'East

4) 0°Longitude



115. HHE-AT I8 4 I AR aad 78

@ 5 7
1) TEEM
2) A
3) T

4) Tl

116. 9RA H @& Y& G HEwpal ol
PIT-HHIAR SFaRed Hiforg :

A. TR e faawer gomd

B. ST<AIGd o ol
C. Thihd Tre G ot
D. T gen A
) A B C D
2 A B D C
3y D C A B

44 B A C D

[ Level-2/1212]

[33/A]

115. Which planet does not have rings

116.

around it ?

1) Jupiter

2) Saturn

3) Uranus

4) Earth

Arrange the food security related
programs in India in chronological

order :

A. Targeted Public Distribution

System (TPDS)

B. Antyodaya Anna Yojana

C. Integrated Food Security Scheme

D. Food Security Act

) A B C D

2 A B D C

3y D C A B

44 B A C D

P.T.O.
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1117.

118.

119.

T ¥ I-d @ o HRE
IFESHR BN 7@ o T R 7

1) ST 1 I

2) oTgd

3) & HA Y ?

4) fig ot & wRfcwd

frr § 9 fp9 UfeR 9@
‘AR’ B SN R & o9f ?

1) AN II
2) MRS
3) WU

4) HewI

Jo Tio 3o #H YT TRYE &

P /Rl BH-B-T & 7

A. 8 ¢ e @ 9= & SR
AT gy & Hehel B

B. ¥ W™ & YU & BN
HETN

C. qifd &R g@r & W-WWE &
gl § S dad el Bl GYE
T & o9 M & &M H
A

1) %ad A

3) %99 B, C

2) %dd9 A, C
4) %99 A,B

[ Level-2/1212]

1117.

118.

119.

Which one is not written by
Dr. Bhim Rao Ambedkar ?

1) Annihilation of Caste
2) Untouchable
3) Who were the Shudras ?

4) Riddles in Hinduism

Which of the following Pratihara

rulers assumed the title of

"Adivaraha" ?

1) Nagabhatta II
2) Mihirbhoj

3) Mahipala

4) Mahendrapala

Which one/ones are function/power
of the Security Council of UNO ?

A. To investigate any dispute
which

international friction.

might lead to

B. To recommend the admission

of new Members.

C. To bring issues threatening
the maintenance of peace and
security to the attention of

other United Nations organs.
1) Only A 2) OnlyA,C

3) Only B,C 4) OnlyA,B



120. F=fafad & @ d9-91/8 3o dio

121.

go &R A Fear SEr B/
AR HLA 98 AT & 9 T HE H
B/ B ?

(A) HT ST
B) g gt & R

C)TH W8 & SR wf Heuer
% Bl I

(D) T B9 H I e

1) %9 (&) @Y (C) Wl 2
2) %4 (B) WY (C) Wl 2
3) @ad (C) Ta T

4) Fad (D) & 2

Frefofea & @ @9-a1 39 o
g7

D R S SIGIIEE

2) WEAS : BRI Hed

3) ToER : Al STEA Iele
4) W TH ST T'dq

[ Level-2/1212]

120.

121.

[35/A]

Which of the following is/are

issued by the RBI and acts as legal

tender money ?

(A) Demand deposits
(B) Coins of all denomination

(C) Currency notes of various

denominations, except one

rupee note
(D) One rupee currency notes
Choose the correct option :
1) Only (A) and (C) are correct
2) Only (B) and (C) are correct
3) Only (C) is correct

4) Only (D) is correct

Which of the following pairs is
incompatible ?

1) Kanpur :Nana Saheb

2) Lucknow : Hazrat Mahal

3) Faizabad : Maulvi Ahmad Ullah

4) Bareilly :Begum Zeenat Mahal
P.T.O.
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122. 9Rd AR ARE 3 S HH-9

123.

HHEAIG T EEIER g 7

A. g-¥ie gefeoiE (S 3 W Q) B
fom gl R ok "eam
SEECHf

B. U T G H HHE G
(ST o o T o8 )

C. Wifvieed TS FHiteH it
wiife (T § T 3 )

1) %ad C

2) a9 A, C
3) A,B,C T#Hl
4) %adq A,B

fp 39 § ‘Plefes™’ (Cohabitation)
I F AN [T SRR @l aen
B gRANT H & forg e o @ ?

1) %™

2) Jo %o

3) Yo THo o
4) e

[ Level-2/1212]

122.

123.

Which agreement/s are signed

between India and USA ?

A. Basic Exchange and
Cooperation Agreement for

Geospatial Intelligence (BECA).

B. General Security of Military

Information Agreement
(GSOMIA).
C. Logistics Exchange

Memorandum of Agreement

(LEMOA).
1) Only C
2) Onmnly A,C
3) AllA,B,C

4) Only A,B

In which country the term

'Cohabitation' is used to define

system of divided government ?
1) France

2) U.K.

3) USA

4) Italy



124. 4 HERE S A9 FEA/AEE T

Hied B §, I Il Fed § 7

1) faware gefE

2) Wifoe TERE

3) el AMEE

4) gt ey @&

125.

I

R4

II

II1

v

1)
2)
3)

4)

[ Level-2/1212]

@

200
200
200

200

T R SRR S

1000
800
(i)
512
(i)
640
580
640

580

(80%)
800
(i1)
512

409.6

(iii)

580

580

640

640

qE o & U IEed H e

(20%)
@)
160
(iv)

102.4

(iv)

68

68

128

128

124. Maps

125.

[37/A]

that focus on specific

information, is called :

1) Thematic Map

2) Physical Map

3) Political Map

4) All options are right

Find the missing figures in given

example of credit creation and

choose the correct option :

Round Deposits Loans Reserve

(80%) Ratio (20%)

I 1000 800 )
il 800 (i) 160
III (i) 512 (iv)
v 512  409.6  102.4
@» @ g @)
1) 200 640 580 68
2) 200 580 580 68
3) 200 640 640 128
4) 200 580 640 128
P.T.O.
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126.

1217.

128.

@ & (REeR, 2023) fea
Tt % € 7

1) 8 2) 10

3) 12 4) 14

frr d 9 e ‘orfag ol e
CERERIRIE

1) fereliemer & fei=h
2) TR GO
3) T

4) TOREN

g & 9 9 1923 § ‘T ey
G| Lo ) e ) A |

1) A Jes X e e

2) SR eE AR AN TE a9

3) W fifE X T=IE e

4) TEAEY e oIR  SEuHI
TR

[ Level-2/1212]

126.

121.

128.

How many Nationalized Banks are

there, in India (September, 2023) ?
1) 8 2) 10

3) 12 4) 14

Who among the following painted

the picture titled "The Last

Judgment" ?

1) Leonardo da Vinci
2) Michelangelo

3) Raphael

4) Masaccio

Whose among the following
contributed to the establishment of

the Swaraj Party in 1923 ?

1) Motilal Nehru and Chittaranjan
Das

2) Jawaharlal Nehru and Subhash

Chandra Bose

3) Bhagat Singh and Chandra
Shekhar Azad

4) Rammanohar Lohia and ]Jai-

Prakash Narayan



129. F=fafag & § @9-91 dedr @%
ac) & frmfor &1 omyr &ar ® ?

1) SUHIKT H AH
2) & RS B RO HAd
3) & TGSl I WU HiAd

4)

130.

U $ AR H YA

WieoEE 3 G99 § HHE-a1 g

& 78 T ?

A.

1)

2)

3)

4)

AN N9 @ Ted qiRRafae @

% YT ST B

R g T REET @
IR i
TiRfRfon s AfesT g5 NEHE
g forr w2

®ad C

&ad A, C

%ad B, C

A,B,C @

[ Level-2/1212]

129.

130.

[39/A]

Which of the following is the basis

for constructing Indifference Curve

IC)?

1)
2)
3)

4)

Which

Consumer's Income
Absolute prices of two goods
Relative prices of two goods

Consumer preference scale

sentence regarding

environmentalism is not correct ?

A.

1)

2)

3)

4)

Arne Naess is considered as

father of deep ecology.

Murray Bookchin is the

inventor of Gaia hypothesis.

Term ecology is derived from

Latin word Oikos.

Only C

Only A, C

Only B, C

AllA,B,C
P.T.O.
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131.

132.

133.

T @9 M 9 59 g9 99 |
Teefeerd o ¢

1) IR
2) 9di
3) TarEH
4) TIE

HgH g HEEW & 184 WA &
eI B S °

1) THo HEMET HIH!
2) 9 g

3) THo SfNH it
4) qieX gHed

Uh a&J % Hs SUAN B AN H
IHD AT A A B ?

1) e>1
2) e<l
3) e=0

4) e=o

[ Level-2/1212]

131.

132.

133.

Genghis Khan belonged to which

of the following Mongol Clans ?
1) Borjigid

2) Khalkha

3) Bayads

4) Hamnigan

Who is the President of 78th

Session of United Nation's General

Assembly ?

1) M. Csaba Koérosi
2) Sam Kutesa

3) M. Dennis Francis

4) Peter Thomson

What will be the elasticity of
demand for a product, if it has

multiple uses ?
1) e>1
2) e<l
3) e=0

4) e=o



134.

135.

136.

STAT R (o Ho To) TR
T ?

1) 1800-3000-145
2) 1857
3) 2014

4) 1915

foeer wefes @ fr & @9-0 @@
o e 78 © ?

1) HehHes fafy
2) Frshafes fafy
3) fdc fafy

4) IRy oy

Jo THo Mo H WM & Hd @&
TR geIel H g8 9 hiH-a1 § °

A. JT-Heg =en
B. el T

C. S N T
1) A,B,C

2) B,A,C

3) AC,B

4) C,A,B

[ Level-2/1212]

[41/A]

134. What is the National Consumer

135.

136.

Helpline (NCH) Number with the

motto Taago Grahak Jaago'?
1) 1800-3000-145

2) 1887

3) 2014

4) 1915

Which one is not a qualitative

method of distribution maps ?
1) Chorochromatic Method
2) Choroschematic Method
3) Tint Method

4) Choropleth method

Which is the right order of milestone

events of UNO formation ?

A. Inter-Allied Declaration

B. Yalta Conference

C. Dumbarton Oaks Conference
1) A,B,C

2) B,A,C

3) AC,B

4) C,A,B

P.T.O.
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1317.

138.

139.

P e Tediiars (Coalitional
Presidentialism) b 3a@{° HMI Sl
g7

1) AR
2) IRIOT STThIHT
3) SIS
4) Yo THo To

I d T H: e g w9 H
e SR W R T B 7

1) o8
2)
3) S
4) "

frfoiaa & 98l kT B FaRyd
HIT T§ 1 RT T g 4 § 7
IAX N FIT HIT ¢

A. U HE gw
B. W™l IS
C. A 5
D. TR I
% -

1) BDAC 2) BCDA

3) CBAD 4) CADB
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131.

138.

139.

Which one is

example of

considered an
'Coalitional

Presidentialism' ?
1) Mexico

2) South Africa
3) Brazil

4) USA

The states in India have been

formed mainly on the basis of :
1) Religion

2) Languages

3) Castes

4) Culture

Arrange the following in correct
chronological order and select the
correct answer from the codes

given below :

A. Battle of Porto Novo
B. Battle of Plassey

C. Battle of Wandiwash

D. Battle of Buxar

Codes :
1) BDAC 2) BCDA
3) CBAD 4) CADB



140.

141.

142.

frfafag & & ®9 1953 § 7feq
oY YIS AT B e /Ge
7& e ?

1) ol 3l

2) %o THo Heil
3) T F6
4) %o THo U~THY

Fret & @ #i9-a1 @ s & o
qewaqUl AT S o ?

1) HereH
2) Bl
3) M
4) faml

ARG B gel T & d e
B & ?

1) = 9RG

2) T T
3) Ta W™

4) TSTEFI TR
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140.

141.

142.

[43/A]

Who among the following was not
the chairman/member of the State

Reorganization Commission

formed in 1953 ?

1) Fazal Ali

2) K. M. Munshi

3) Hridaynath Kunzru

4) K. M. Pannikar

Which of the following festivals
was considered very important in

Hampi ?

1) Mahanavami
2) Holi

3) Onam

4) Diwali

Which is the first private sector

train of India ?

1) Vande Bharat
2) Tejas Express
3) Gareeb Rath

4) Rajdhani Express

P.T.O.
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143.

144.

145.

frer & 9 f9 30 T 1876 Fo H
“IIRISE ST HY T
off ?

1) gWvE

2) YT
3) dfcoEd

4) T

% @ WP B e @l R
g

1) 21 A H

2) 21 S &

3) 22 RE=y #

4) 23 AR @

HIF-d T4 T IR A At & 7

1)
2) M
3) &HAd
4) Tl
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143.

144.

145.

Which of the following countries

established the International

African Association in 1876 ?
1) England
2) Portugal
3) Belgium

4) Turkey

Direct rays of the sun fall on the

Tropic of Cancer on:
1) 21st March

2) 2lstJune

3) 22nd December

4) 23rd September

Which river drains into the

Arabian Sea ?

1) Tapi

2) Ganga

3) Kaveri

4) Mahanadi



146.

141.

148.

‘I SRR off feeeXia Us
SOHE” B AGH B & °

S-G9 IRgw auEE F ghs @
HROT Tl & 7

1) CO, 2) O,
3) O 4) N,
Fifhd HeFl W R #icw -

M AT (1947) & WN W Ead
TEE & YR WX a9 &R
I (1995) &l WIGAT &l TS|

(D) {999 FUR TS H O G
Al HERl BN ITgHiRd Th
Jsg §@fY % omyR W@l
TS|

&} faeed T

1) @ad () & Bl

2) dad () & &l

3) @ r an I T 2
4) (@ @R (p & T 8
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146.

141.

148.

[45/A]

Who is

Origins of

the author of "Social

Dictatorship and

Democracy" ?

1) Jennifer Gandhi
2) Barrington Moore
3) Hanna Arendt

4) Carl Schmitt

Which gas leads to increase in

global temperature ?
1) CO, 2) O

3) O, 4) N,

Consider the following statements :

I WTO (1995) was established
on the basis of Dunkal proposal
in place of GATT (1947).

(II) WTO has been established on
the basis of an international

treaty approved by the

parliaments of the member

countries.
Choose the correct option :
1) Only (I) is correct.
2) Only (II) is correct.
3) Both (I) and (II) are correct.

4) Both (I) and (II) are wrong.
P.T.O.
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149.

150.

®d, S R ag & d= # qHA
Hoh & 1 & 7

1) WHSA
2) SHSd

3) drgHsd

4) Savsd

qigerdl €T H 39 AW @ A S S
g

1) HEE

2) fewm

3) el

4) et

149.

150.

The narrow 2zone of contact

between the land, water and air is :

1) Lithosphere

2) Hydrosphere

3) Atmosphere

4) Biosphere

Western Ghats is also known as :

1) Sahyadri

2) Himadri

3) Aravalli

4) Shiwalik

[ Level-2/1212]
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6.

usHr B N, I G=h ¥ faiRa @t & & 9 qrEe ™A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y BN A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT E A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

T B FISH-E[W 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk X AT IR S Sk H I q&a of 9d o1 (Fhe wgs) & T (s 21/
The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TA% U & fow Ru o oar feed § & ofd faee 3 T OMR ST W% W 399 % 99 & & [0 TR FM a6 @Re W W
Th d I JifFT B B I8 IY To Tef o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 oW T B AT 7 9 Ud 39 W HE I M T ) ot ot i St W # feEiRa e
% oifaftdd o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

Y- T I T B ANEE T H, Fie e 9 oRRefd § [eT-gRae 0 St T & B § @ R &
@3%_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W = ° U T wHiw gt T % ¥ =R’ I ¥ fT€ / The candidates should write the correct Number as

given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle Ad/H F HAY W R UEEM U & SiiRed R SR @ ureg-ar, a1 ST FEST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHAT AT TR ST TR & G B S A7 SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S TX UA% TRt oo Wae S A o] 9 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

F% ordfes @1 wdwe @ AW aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR fhU A ol wlen & e 818 ARk fed vl A
A R WK A W EWRR Te Y q a8 A O % I IO T AE Aern & AR Fe ST | H A qE S
OMR T T% 7 FHiRG @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey e & &6 919 &
& Tl WY R @ g A & & @nd oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

sﬁ’ﬁ‘rﬁm/mﬁﬁ UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SERer % _fow, orelt Rerfem & & T sien/Rer-FRw @ 98 & @i et @ B @ R am w0 ol e &
ol T W O S & e w e & FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Eﬁlg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

ThE T BN W, ol e /2TA Bie @ Jd IR U he-TdaEd d ofasd A 31 oned o | 39 UsH-gRad @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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